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™~ In the following calculation formula, ¥ cannot be a =

multiple of which number?
w=4X6X5

A. 3
B. 5

C.2
0. 8 /3
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The length of each side of the hexagon is 6cm.

After dividing it into six triangles of the same size,
what is the perimeter of each triangle?
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A. 12cm
B. 18cm

C. 24cm
D. 36cm %
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Sister has a 15 weeks savings plan. For the first 6
weeks, she saves $217 every week. After that, she
saves $198 every week. How much does she save?

A. $3051
B. $3062
C. S3084
D

. $3097 %
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o What is the area of the shaded part? -
A. 16cm?
B. 14cm?
T C. 13cm? %
D

. 12cm?
O b
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1.D
2.B
3.C
4. A
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